Convergence Practice

1. Which of the following series converge?
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2. What are all values of x for which the series ), ;-4 & nlj converges?
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4. The Maclaurin series for ln( ) 15 Yo 1 *” with interval of convergence —1 < x < 1.

: : : 1 ; ;
a) Find the Maclaurin series for In (E) and determine the interval of convergence.

b) Find the value of 3,57, (_711) x

¢) Give a value of p such that Y, n—) converges, but Yo ip diverges. Give reasons

why your value of p is correct.

d) Give a value of p such that ), i dwerges but Yo 1575 converges. Give reasons why
your value of p is correct.
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